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Problem No. — 6 Solution

1) Time Ratio =1:3

Incorporation / Registration Date

1stJanuary .., 1st April 315t December
Pre Period Post Period
Jan Feb Mar (3 Months) : AMIJJuASON (9Months)

3 Months : 9 Months
1 : 3



2) Sales Ratio = 2:3

(Note : Sales Ratio : Sales of pre-incorporation period are % 3¢ 2 of the sales of
post-incorporation period. It means, if the sales of post mcozporatzon period are

presumed to be 3, pre-incorporation period sales must be of 31e 3 X < = 2. Hence,
theratiois 2 : 3).

Post Sales Presumed 3
Pre sales=2/3x3=2
Sales Ratio = 2:3
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